One Piece Tubular Footrest

____________ C -
. Footrest supports shown
i for reference only




One Piece Tubular Footrest

tem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 1069059 Spacer, Coved (1/4 x 1/2 x 9/16") 1 3
2 1025456 Washer, Nylon (3/4 x 1/4 x 1/32") 1 1
3 1068505-NLA | NLA - Screw, Socket Button Head (1/4-28 x 2") 1 1
4 1059284-NLA | NLA - Screw, Socket Button Head (1/4-28 x 1-1/4") 1 1
5 1025735 Locknut (#10-32) 1 1
6 1027097 Plug Button, Black (3/4") 1 2
7 1069041 Latch, Black 1 1
8 1068503 Knob 1 1
9 1068506 Washer, Wave (3/8 x 3/4 x 1/8") 1 1
10 See Chart #10 Footrest Tube 1 1
11 See Chart #11 Tubular Footrest Assembly 1 1
#10 Footrest Tube
Footrest 14" 15" 16" 17" 18" 19" 20"
Finish Wide Wide Wide Wide Wide Wide Wide
Ar?cigle; d 1068881-NLA|1068882-NLA(1068883-NLA[1068884-NLA|1068885-NLA|1068886-NLA[1068887-NLA
Black Powder
Coat 1068888-NLA(1068889-NLA|1068890-NLA(1068891-NLA(1068892-NLA|1068893-NLA(1068894-NLA
#11 Tubular Footrest Assembly
Footrest 14" 15" 16" 17" 18" 19" 20"
Finish Wide Wide Wide Wide Wide Wide Wide
Afngzlz d 1068895-NLA(1068896-NLA|1068897-NLA[1068898-NLA(1068899-NLA|1068900-NLA[1068901-NLA

Black Powder
Coat

1068922-NLA|

1068923-NLA|

1068924-NLA|

1068925-NLA|

1068926-NLA|

1068927-NLA|

1068928-NLA




